normalized X2

1072

107

chi2
Entries 8519
Mean 1119
Std Dev 0.8028
chiz
Entries 8515
Mean 1.119
Std Dev 0.802:

0 2 4 6 8 10 12

14 16 18 20
X2

[ normalized x? probability |

Chiz_prob
Entries 8519
Mean 0.4871

+ - LStd Dev. 0.31

R pvo
= | Entries 8515
Mean 0.487
. Std Dev 0.3

0.1 0.2 .3 04

0.95/

O

0809 1

Prob(xz)

A 2F
2 18F
< 16 : : :
i\ F 3
1'4;_ l'li.if"'"-'."""-"'1.'|'i'+"".'-'|1'" :
1-2:— === DQM_V0001_R000000001__Global__mkFitOLD__RECO
15' === DQM_V0001_R000000001__Global__mkFitNEW__RECO
0.8F | ;
0.6F
0.4F]
0.2F
o +RF
T
@
0.95%%
A - A E
2 2 18k
< < 1.6f-
\ v o
1.4~
1.2F
-
0.8F-
0.6F
0.4F
0.2F
° o O
3 T
@ @
0.5
} - ok~
107 1 102 10 1072

-1
AR(track, jelts)



	Contents
	Page 1


